N VY /iR E -7 vaun’

Bt B - S FN064E098 168 TEAIT—LTFUINITVST
K4 OUT| IN | GR | HDCP | NET | f&®& |IEfL K4 OUT| IN | GR | HDCP | NET | f&®& |IEfL K4 OUT| IN | GR | HDCP | NET | f&® |IBELL K4 OUT| IN | GR | HDCP | NET | f&®&

PTdis & |41 (38 | 79 (9.6 [69.4 A% | 51 & {—— |54 |47 |101 |26.4 |74.6 101[chE 234 |44 [47 | 91 [13.2 [77.8

BT e & |42 (37 | 79 (8.4 [70.6 [Am | 52 |[REE s¥% |48 |40 | 88 |13.2 |74.8 102/} B= |45 [52 | 97 [19.2 [77.8

KB Tt BsE |42 (37 | 79 [8.4 [70.6 [A® | 53 [BA Fuk |49 |45 | 94 [19.2 |74.8 103tk #0ah |49 |47 | 96 [18.0 [78.0
#iL #E (37 (38 | 75 (3.6 |[71.4 [AK |[ 54 [BEE E (49 [45 | 94 [19.2 [74.8 104|FE FK |55 |53 [108 [30.0 [78.0

5 NS 51 147 | 98 |26.4 |71.6 |[A% (MBl® ®=e |48 [46 | 94 [19.2 |74.8 |ma |~ #—25 44 [45 | 89 [10.8 |78.2 |m&
SfE B |55 (49 [104 [32.4 [71.6 [AK | 56 [h% 2%— |49 |51 [100 [25.2 |74.8 106[%% %F |52 |43 | 95 [16.8 |78.2

BT —% (40 (39 | 79 [7.2 [71.8 |[A# |57 |&th #& |45 |42 | 87 [12.0 |75.0 1075k ==& |43 [39 | 82 [3.6 [78.4

ClliRgE ZEE 40 (30 [ 79 [7.2 [71.8 (A& || 58 |#&ME W [44 [43 | 87 |12.0 [75.0 108|[5# &B8 |50 |44 | 94 [15.6 [78.4

SN R R (38 (41 | 79 [7.2 |71.8 |[A# |50 [#EE Mg |49 |44 | 93 [18.0 [75.0 109 LK #n%k |50 |43 [ 93 [14.4 [78.6

(W& BGh (45 (40 | 85 [13.2 [71.8 (A% |WNsRs+ %% |47 (46 | 93 [18.0 [75.0 |m% |(WACJ®II B3 |46 |53 | 99 |20.4 |78.6 |®¥%
=W & 40 (36 | 16 [3.6 [12.4 61 |t fE— |45 [48 | 93 [18.0 [75.0 111 (@i 7% |46 [53 | 99 [20.4 [78.6
@a KA 45 (37 | 82 [9.6 [12.4 62 |5 % |50 [49 | 99 [24.0 [75.0 112|5& /vE& |57 |53 [110 [31.2 [78.8
A& # |41 [47 | 88 |15.6 [12.4 63 |[Ea) = (42 [38 | 80 [4.8 |75.2 113#8% A% |44 |52 [ 96 [16.8 [79.2
R #F (42 139 | 81 8.4 |72.6 64 |f8k MIFE |43 |43 | 86 |10.8 |75.2 114 A% 30 51 |57 |108 |28.8 |79.2

Bl m# (42 (44 | 86 [13.2 [72.8 e |EH#+ ik (41 45 | 86 [10.8 |75.2 |mx (EENRL @E 48 |47 | 95 [15.6 |79.4 R

16 |#03E #Eth |46 |46 | 92 [19.2 |72.8 66 fEM #— |50 [42 | 92 |16.8 |75.2 16 A4 HZE |53 |48 [101 [21.6 [79.4

17|28 #%k |45 |47 | 92 [19.2 |72.8 67 &6 4 |46 (45 | 91 |15.6 [75.4 117|%% —=% |57 |50 [107 [27.6 [79.4

18 [FH #s (49 [49 | 98 [25.2 [72.8 68 |BEf F@Z |48 |55 |103 |27.6 [75.4 118|78FU48 ;%F |54 |53 107 [27.6 [79.4

19 [#6%F # |49 |49 | 98 [25.2 |72.8 69 R % |48 |42 | 90 [14.4 |75.6 1194 #& |57 48 [105 [25.2 [79.8

M=% %3 (38 [41 [ 79 [6.0 [73.0 e |WIN&®E == (45 (45 | 90 |14.4 [75.6 m& |[fEYKAE M7 |52 |52 [104 24.0 [80.0 |

21 8K HE 42 |43 | 85 [12.0 |73.0 71 |A)I #=8B8 |50 [46 | 96 |20.4 |75.6 121 | k5% BE#E |45 |46 | 91 [10.8 [80.2

22 \‘RHE B |42 |42 | 84 |10.8 |73.2 72 |IU4R  #—BB |55 [47 |102 |26.4 |75.6 122|FA BB |54 |48 [102 [21.6 [80.4

23 |EA # |41 [43 | 84 [10.8 |73.2 73 |f@E@ #iE |44 |45 | 89 [13.2 |75.8 123[# 4% |50 |51 [101 [20.4 [80.6

24 |£H #hE |51 |51 |102 |28.8 |73.2 74 1K &y |52 [43 | 95 [19.2 |75.8 124|# Lt & |61 |52 [113 [32.4 [80.6

A= i [45 (38 | 83 |9.6 |73.4 mz  |JENt=— 46 [49 [ 95 [19.2 [75.8 & |[jBEJ#a% #  [50 [44 | 94 [13.2 [80.8 [R&

26 |IuA A |46 [43 | 89 [15.6 [73.4 76 [R5k AKX |52 [49 [101 [25.2 [75.8 126[mM 7% |52 |48 [100 [19.2 [80.8

27 |[RA KRF |44 |45 | 89 [15.6 |73.4 77 LA 48R |47 |41 | 88 [12.0 |76.0 127|&#% #Fgr |60 |55 |115 |33.6 |81.4

28 |A*f RER |43 [46 | 89 [15.6 [73.4 78 [RE % |44 |43 [ 87 [10.8 |76.2 128/ EM |50 |51 [101 [19.2 [81.8

29 |BREA EH |43 |46 | 89 [15.6 |73.4 79 |98 &F |50 [49 | 99 |22.8 |76.2 129 |[#E E |54 |48 [102 [19.2 [82.8

Els=z g (42 (40 | 82 (8.4 [73.6 mu (WAL A% (49 |50 | 99 [22.8 |76.2 |me |(EGIE# Stk |57 |62 119 [36.0 |83.0 R

31 | B FERI (44 |44 | 88 [14.4 |73.6 81 %L %85 |46 |53 | 99 |22.8 |76.2 131|FA Al |54 |65 |119 |36.0 |83.0

32 |[#% L#® |51 [36 | 87 [13.2 73.8 82 [#A @— |50 |42 | 92 [15.6 |76.4 1824 # |60 |49 [109 [25.2 [83.8

33 |[£H IERER |46 |41 | 87 [13.2 |73.8 83 |BYF [H 49 |43 | 92 [15.6 |76.4 1338 B 54 |48 [102 |18.0 [84.0

3 Tt f5F |47 |46 | 93 [19.2 |73.8 84 |=H5 HE—ER |47 [45 | 92 [15.6 [76.4 134/ILA BF |67 |59 [126 [36.0 [90.0

ElLie =& 49 [56 (105 [31.2 [73.8 me (&% #% |55 (49 104 |27.6 [76.4 #x |[REE#is+ 2R 62 |65 127 [36.0 [91.0 |RE

36 %M &N |41 [39 | 80 6.0 [74.0 86 |FB = |50 |54 [104 |27.6 |16.4 (B =\ =7 (68 [61 [129 [36.0 [93.0 B8

37 #%A ®E (48 |38 | 86 |12.0 |74.0 87 |&M Rx |50 |41 | 91 [14.4 |76.6 B F % #F |67 |62 [129 [36.0 [93.0 |BM

38 |mE mEZ |44 |42 | 86 [12.0 |74.0 88 iIJIl Z# |53 |50 |103 |26.4 |76.6

39 |#F 2A |47 [45 | 92 [18.0 [74.0 89 |F#k Mt |47 |43 | 90 [13.2 |76.8

M=% e [48 [50 | 98 [24.0 [74.0 ®& |J[#0 Z#& (46 [50 | 96 [19.2 [76.8 |&&

41 [EA KfE |48 [43 | 91 [16.8 [74.2 91 [/MiE {283 |45 [44 | 89 [12.0 [71.0

42 |f8%% 83 |50 |53 103 [28.8 [74.2 92 [£3 sEth |44 |38 | 82 [4.8 |77.2

43 A & |52 |57 [109 [34.8 |74.2 93 3@ #th |45 |43 | 88 [10.8 |71.2

44 Nt f— (44 [40 | 84 [9.6 |74.4 94 |l 75 |51 [43 | 94 [16.8 [77.2

s &= (43 (41 | 84 [9.6 144 mu |[E0EE _&— (50 [44 | 94 [16.8 [77.2 |

46 |3 & |45 (38 | 83 8.4 |74.6 96 |A4T &+ |50 |44 | 94 [16.8 [77.2

47 K =AM |44 [39 | 83 8.4 |74.6 o7 |&A& #% |57 |43 [100 [22.8 |71.2

48 AR B3 |47 [42 | 89 [14.4 |74.6 98 [BMs =T |51 |49 [100 [22.8 [77.2

49 [HEFE IEH#F |42 |47 | 89 [14.4 |74.6 99 |HE HE |47 |46 | 93 [15.6 |77.4

El=z5 sx (47 (48 | 95 [20.4 [74.6 && |fX% #&= (51 [54 [105 [27.6 |[71.4 |®&

BREAEIWRY 7 [BEIERIHD C PIE-vyF/5 237 (IN) [BRLA-]11-3-4-5-6-9-10-11-13-14-15-16



